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QUESTION 1

Which option is accurate as it relates to the sysLocation parameter?

A. It is a short string describing the physical location of the host where the server is running.

B. It is the part of an SNMP public password referring to the physical location where the server is running.

C. Itis a string encoding routing and NAT information to enable SNMP packets to reach the host from other subnets.
D. It is a path on an SNMP host to distinguish between many agents that may be running on that host.

Correct Answer: B

QUESTION 2

Which option best defines an "unreliable network" within PacketShaper?

A. It has NO traffic trees defined in the PacketShaper

B. Its latency is decreased, meaning that the frequency of time-outs and retransmissions spike
C. It offers no guarantees that packets will NOT be delayed, damaged, or lost

D. Its acknowledgments are in UDP, NOT TCP

Correct Answer: A

QUESTION 3

Which statement accurately describes rate policies and priority policies?

A. Priority policies are most appropriate tor interactive traffic that is burstable

B. Rate polices apply only to non-IP traffic

C. Traffic classes without a specific policy assigned, are allocated no bandwidth
D. Traffic with rate policies are applied before the priority policy

Correct Answer: C

QUESTION 4
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How are classes sorted in a traffic tree?

A. By service precedence

B. By priority, rate and average utilization
C. By parent, child, and sibling relationships
D. By server port number

Correct Answer: C

Explanation: https://originsymwisedownload.symantec.com/resources/webguides/packetguide/11.5/Content/Topics/
overviews/tree-overview-legacy.htm

QUESTION 5

Which statement about dynamic partitions is true?

A. All fixed partitions are converted to dynamic as users become active in a traffic class
B. They can only be configured for the aggregate traffic class

C. Child class partitions, automatically convert the parent class into dynamic partitions
D. The minimum subpartition size is 1024 bps

Correct Answer: A
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